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NOTE 1: OPEN BOOK, OPEN NOTES.
NOTE 2. SHOW ALL WORK IN ORDER TO RECEIVE FULL CREDIT.
NOTE 3: START EACH PROBLEM ON A NEW PAGE. >
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I 30Pts. A causal LTI system § W‘lth.qﬂpulsamsp se h(t) has its input x{t) and
output y(t) related through a linear ient differential equaticn
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msider & continuous-time LTI system for which the input x(
are related by the differential equation

d* ¥it) - dft) - 2y(1) = x(t)
= dt

aplace transforms of x{1} and y(t), respestively, and let ! (s}
denote the Laplm:e transform of h(t), the system impulse response. '

41’

I{s) as a ratio of two polynomizls in s/ Sketch # pale-zero pﬂ:crn of

H{s}.
(b} Determine hit) for each of the following cases:
I The system is stable.
2. The svstem is casual
3. The system 1s netther steble nor causal
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